





Holiday Inn Belgrade

Address: Spanskih boraca 74

City: **Novi Beograd**ZIP code: **11070**Country **Serbia**

Phone **+381 11 31 00 000** Phone **+381 11 31 00 100**

info@hibelgrade.rs_





No of rooms

138



No of halls



NAJVEĆA SALA

170

Location

10km from International Airport
"Nikola Tesla"
4km from City center
4.5km from Belgrade Fair
500m from Kombank Arena
4km from Main Railway Station
1km from Sava Center
4km from Kalemegdan and Belgrade
Zoo
4.5km from Ada Ciganlija Lake
6km from St. Sava Church

Surrounding

City

Facilities

- WiFi
- Restaurant
- Wellness
- Open parking lot
- Garage

- Special need facilities
- Pet friendly
- Business center

About us

The Holiday Inn brand exists within the InterContinental Group. The Holiday Inn Hotel in Belgrade was established in 2007, in the center of the business district of New Belgrade, just a few minutes from the most important business centers: Airport City, Sava Center, West End Business Complex, Stark Arena, as well as the headquarters of all large companies and business centers. In Belgrade. You are only 10 minutes away from Belgrade Waterfront, and shopping centers are 2 km away - Usce, Delta City, Galerija.

An ideal location to finish all business obligations, but also to relax after all the meetings during the day.

As part of the IHG corporation, all guests have the opportunity to become members of the IHG loyalty program, within which you collect additional points that you can use at all Holiday Inn hotels in the world.

Accommodation

The Holiday Inn has a total of 138 spacious rooms, of which 24 are Premium rooms, a standard suite and an suite with a sauna, as well as two rooms for guests with special needs.

Conference capacities

As part of the hotel offer, seven conference rooms are available for our guests and clients. In addition to choosing to stay in our hotel, you can also organize business meetings, presentations and seminars. Each of our halls has the necessary equipment for facilitating meetings and seminars. The total capacity of the hall is up to 170 seats in a cinema setting. The Hilandar conference hall is the perfect choice for all your smaller meetings and trainings, with a capacity of up to 12 people. As part of the technical equipment at your disposal, there is a projector with a screen, as well as an LCD screen.

If you are planning an event outside the hotel, our catering team is at your disposal, whether it is business meetings, celebrations or weddings, we offer a top catering service tailored to your needs.

Additional facilities

Known for its rich breakfast, it offers guests a pleasant stay between business commitments, just a few minutes away from all business events. Holiday Inn offers its guests an A La Carte menu in the Lobby bar and restaurant.

The hotel also offers the services of a spa center, a jacuzzi, a sauna, a steam bath, and a gym. A wide selection of massages and body treatments is available during the stay of our guests, and you can schedule your appointment at the hotel reception.

The hotel parking lot is available to all guests.

Our guests love breakfast at our place, and you can have your business meetings in our restaurant or lobby bar with lunch or dinner. Our A la Carte Menu offers a diverse selection and combination of international and domestic dishes.

The spa center is available to all hotel guests and includes: gym, jacuzzi, sauna and steam bath, and massages, face and body treatments are also available. Working hours of the spa center: 06.30-22.00

	U SHAPE	T SHAPE	CLASSROOM	BOARDROOM	SQUARE	THEATER	CABARET	BANQUET	COCKTAIL	TOTAL m2	WxLxH
Studenica	22	22	30	16	28	50	-	24	45	60	8 x 7.52 x 3.3
Ravanica	25	25	34	16	31	60	-	24	40	70	8 x 8.65 x 3.3
Gracanica	22	22	30	16	28	50	-	24	35	62	8 x 7.7 x 3.3
Ostrog	16	16	22	14	20	35	-	16	25	47	6 x 7.75 x 3.3
Zica	20	20	24	14	26	35	-	16	15	42	6 x 7x 3,3
Mileseva	14	15	18	10	18	35	-	16	15	42	6 x 7 x 3.3
	-	_	_	12	_	_	-	-	_	37	7.3 x 5 x 3.3
Studenica + Ravanica	45	45	60	_	50	120	_	56	75	129	8 x 16.17 x 3.3
Ravanica + Gracanica	45	45	60	_	50	120	_	56	75	131	8 x 16.35 x 3.3
Studenica + Ravanica + Gracanica	-	-	100	-	-	170	-	80	120	191	8 x 23.87 x 3.3
Ostrog + Zica	35	35	46	-	40	70	-	48	50	98	6 x 16.4 x 3.3
Zica + Mileseva	35	35	40	-	40	60	-	48	50	94	6 x 15.65 x 3.3
Ostrog + Zica + Mileseva	60	60	64	-	64	100	-	64	70	140	6 x 23.4 x 3.3
Foyer	-	-	-	-	-	-	-	-	120	268	5.05 x 24 x 3.3

^{*} Capacities by halls for different seating styles

Technical equipment

Projector

- Flipchart
- Projection canvas
- Laptop
- Translation equipment
- TV (Plasma/LCD)
- DVD/CD player
- Sound System
- infra-red headphones

Location

Hotel Holiday Inn is located in the main business aria of New Belgrade, near important locations and two riversides.

Hotel distants from: International Airport "Nikola Tesla" 10 km, City centre 4 km, Belgrade Fair 4.5 km, Kombank Arena 500 m, Main Railway Station 4 km, Sava Centre 1 km, Kalemegdan 4 km, Belgrade Zoo 4 km, Ada Ciganlija Lake 4.5 km, St. Sava Church 6 km.

GPS coordinates

20.4142870000 (Dužine / Longitude)

44.8097710000 (Širine / Latitude)

Satusfied clinets

Actavis

Coca Cola Hellenic

VIP Mobile

Mercedes Benz

GlaxoSmithKline

Telenor

NIS

JT International

Huawei

Philip Morris

